Mixed Operations

Name: Class:

Calculate

9 x 88 - 345 = 3 x56 - 105 =

6 x33 - 115 = 7 x51 - 109 =

3 x65- 123 = 9 x22- 154 = 7 x72 - 328 =
4 x37 - 107 = 8 x59 - 232 = 6 x96 - 432 =
9 x16- 132 = 9 x40 - 200 = 8 x 65 - 229 =
8 x42 - 171 = 8 x53 - 327 = 9x75- 134 =
5x75-226= 9 x47 - 275 = 5x52- 116 =
9 x30-232= 9 x41 - 335 = 4 x 88 - 265 =
7 x70 - 156 = 5x54- 143 = 8 x45 - 123 =
8 x73 - 265 = 9 x 66 - 222 = 6 x44 - 105 =
7 x66 - 312 = 7 x32 - 180 = 9 x25- 100 =
9 x34 - 209 = 9 x91 - 654 = 8 x39 - 177 =
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Answers

Calculate

9 x 88 - 345 =447 3 x56-105= 63

6 x33 - 115= &3 7 x51 - 109 = 248

3 x65-123= 72 9 x22-154= 44 7 x72-328=176

4 x37-107= 41 8 x 59 - 232 =240 6 x96 - 432 = 144

9x16-132= 12 9 x40 - 200 = 160 8 x 65 - 229 =291

8 x42 - 171 =165 8 x53 - 327= 97 9 x75 - 134 =541

5 x75- 226 =149 9 x47 - 275 = 148 5x52- 116 =144

9 x30 - 232 = 38 9 x41 - 335= 34 4 x 88 - 265 = 87

7 x70 - 156 = 334 5x54-143 =127 8 x45 - 123 =237

8 x73 - 265=319 9 x66 - 222 =372 6 x44 - 105 =159

7 x66 - 312 =150 7 x32-180= 44 9 x25- 100 = 125

9 x34 - 209 = 97 9 x91 - 654 = 165 8 x39 - 177 =135
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